
 

 
Page 1 of 1 

120 Eastgate Drive SE                 1-800-788-6483 
PO Box 7                                        1-320-587-2322 
Hutchinson, MN  55350             1-320-587-6112 (Fax) 
                      WWW.MAYWES.COM 

Doc#:10097_B 
 

Corn Shield Mounting Instructions 

Utilizing Threaded Rod & Mounting Bracket 

 

 

 

1. Bolt the Mounting Plate (#22136) onto the back of the Corn Shield using (2) 5/16” bolts and 

washers. 

2. Set the Corn Shield on the front outside unit.  Position the shield to make sure it is                            

set up right and straight.  Mark around the Corn Shield with a pencil. 

3. Measure the location of the front nut that is molded into the Corn Shield point.                       

Transfer measurement to the poly point. 

4. Drill 3/8” hole for the front mounting stud on top and drill 3/8” hole in the bottom side                    

of the point approximately 7” from the plug. 

5. Screw the 5/16” threaded rod into the front molded-in nut and place the Corn Shield                        

on the Gatherer Shield. 

6. Place Corn Shield on the point. 

7. Fasten the front down with a ¼” x 1½” x 1½” plastic, 5/16” flat washer and a 5/16” nut.            

(Make sure when assembled, the nut and washer do not hit on the point height support). 

8. Fasten the Mounting Plate (#22136) to the Gatherer Shield using (4) ¼” x ¾” screws.                     

(You may want to drill small starter holes). 

9. The rubber flap will need to be trimmed to lay flat on the snout and not contact any moving parts.  

Raise point up as high as you can to select area you need to remove from flap. 


